automatic.ro

industrial marketplace

B Patine HGW-CC / HGW-HC ZAH

(5) HGW-CC / HGW-HC

Hg

K1
t ¥
S| ©
t +
6 L
Kz L
C
EID |© Hj' A o fl n
! ‘Fn_=_=.:'= U / ———
Y — {/ T
ad
E P E

@

COMPONENTE PNEUMATICE | HIDRAULICE
COMPONENTE ELECTRICE
COMPONENTE MECANICE

0726.175.111
0721.228.444
0754.075.656

0 @

AUTOMATIC INVEST
ROMANIA, 1Al

WWW.AUTOMATIC.RO
s E
CALEA CHI{jINCULUI, NR. 29

VANZARI@AUTOMATIC.RO



http://WWW.AUTOMATIC.RO

automatic.ro

industrial marketplace

Dimensions Mounting Da::rl:ic 3&5.'.5 StaticRated — yyoighe
of Assembly Dimensions of Block (mm] Dimensions of Rail (mm] Boltfor ‘I'.oa d || Load Moment
[mml] Rail : -
Model No.
Rating Rating My M, M, Block Rail

H H NWBGB C L L K K6 M T T T, H H WegHy D h d P E I[mml ClkN] C,IkN] KN-m KN-m kN-m kg kg/m
HBW16CC 24 43 16 47 38 45 30 394 614 8 48553 M5 6 89 695395 37 15 15 75 63 45 60 20 Méx16 1138 1697 012 010 0.0 0.7 145
Hew2occ 50.5 77.5 10.25 1775 2776 0.27 020 0.20 0.40

30 4.6/215 63 53 5 40 6 (12 M6 8 10 95 6 6 20 1759585 6 60 20 M5x16 221
HGW20HC ‘ 65.2 922 17.6 2118 3590 035 035 035 0.52
HBW25CC 58 84 107 2648 36.49 042 033 033 0.59

36 5.5}23.5 70 57 6.5 45 6 12 M8 8 14 10 6 5 23 22 11 9 7 60 20 Méx20 | 3.21
HBW25HC 78.6 1046 21 3275 49.44 056 0.57 057 0.80
Hew30cC 70 97.4 1425 38.74 5219 0.66 053 053 1.09

42 6 31 9 72 9 |52 6 12 MI0'85 16 10 65108 28 26 14 12 9 80 20 MB8x25 4.47
HGW30HC | 93 120.4 25.75 4727 6916 088 092 092 1.44
HBW35CC 80 1124 14.6 4952 6916 116 0B1 081 1.56

48 75 3310082 9 | 62 7 12 M10/10.1 18 13 9 126/ 34 29 14 12 9 80 20 M8x25 6.30
HBW35HC 105.8 138.2 275 6021 9163 154 140 1.40 2.06
HBW45CC 97 1394 13 7757 10271 198 155 155 279

60 9.5(37.5120100 10 80 10 129 M12/151 22 15 8.5 /20.5 45 38 20 17 14 10522.5 M12x35 10.41
HGW45HC 128.8 171.2 289 9454 136,46 2.63 2.68 2.68 3.69
HBW55CC | 117.7 166.7 17.35 14.44 14833 3.69 2.64 264 4.52

70 13 |43.5140/116 12 95 11 129 M14175265 17 12 19 53 44 23 20| 16 120 30 M14x45 15.08
HBWS5HC 155.8 204.8 36.4 13935 19620 4.88 4.57 457 596
HBW&65CC 144.2 200.2 23.1 163.63 21533 6.65 4.27 4.27 917

90 15535170 142 14 110 14 129 M16/25 375 23 15 15 63 53 26 22 18 150 35 M16x50 21.18
HGWA5HC 203.6 259.6 52.8 208.36 30313 938 738 7.38 12.89
Note : 1 kgf=9.81N

L i L

@

0726.175.111
0721.228.444
0754.075.656

COMPONENTE PNEUMATICE | HIDRAULICE
COMPONENTE ELECTRICE
COMPONENTE MECANICE

"

AUTOMATIC INVEST
ROMANIA, IAj1,
CALEA CHI{jINCULUI, NR. 29

&

WWW.AUTOMATIC.RO

E
VANZARI@AUTOMATIC.RO



http://WWW.AUTOMATIC.RO

